MAT?2440, Quiz3, Spring2025

1D: Name:

1. Let C(x), D(x), and F(x) be the statements ‘x has a cat,” ‘x has a dog,” and ‘x has a ferret,’
respectively, where the domain consists of all students in your class.

(a) Translate the statement into English: “=3x(C(x) A D(x) A F(x))”

No ohs fn four class has a cat, QOlOO‘[)qmo\ 0\7“2116%.

(b) Express the statements using quantifiers; logical connectives; and C(x), D(x), and F (x):

“Some student in your class has a cat, and a ferret, but not a dog.”

Ix(COOAFOEI AT Do<)>

2. Use rules of inference to show that the premises “If you send me an email, then I will finish
writing the program,” “If you don’t send me an email, then I will go to sleep early,” “If I go to
sleep early, then I will wake up feeling refreshed,” lead to the conclusion ‘‘If I don’t finish

writing the program, then I will wake up feeling refreshed.”’

(Please use the following propositions to show your answer: e: “you send me an email,” f: “I
will finish writing the program,” s: “I will go to sleep early,” w: “I will wake up feeling
refreshed”)
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